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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: 2x5=10
@~ #Hofo dess Tex wie ¢

1)  What is the difference between proposition

and a sentence?
A € ACHA T AN 2

i1)  What is oppositon of proposition?
BUCERECIE e

1i1) What is meant by existential import?
SREGETT Ol @00 F (QRI 2

1v)  What is meant by exclusive sense of the word
HORH?

“TreRl” #Aoa oA oY e F @RI 2
[Turn Over]

v)  Give obverse of this proposition : "No men
are God".

“@IE T T (el — IpAiod e 9|

vi) Distinguish between tautology and self-

contradictory statement form.
FONe) ¢ Fosf WP & ALy 52
vii) What is bad analogical argument?
7 Tl e e
viii) Give an example of the fallacy of'illicit major.
LY A (-G GG THiRge Wie |
2. Answer any two questions: 5x2=10
@~ 9o 2re Tew e ¢
1)  Define conversion. Discuss with examples the
rules and kinds of conversion.

TG G HLE WIS | THIZFTE S 2] 3
oA SEmT FE

11)  Use truth table to verify whether the following

statement forms are tautology, self-

contradictory or contingent :

) AN A e wace Foey,
oy, wiel wieifes [eR FE ¢

a) [(pva).(avp)]>[(pa)v(pa)]
b) [(p.q) ) r:| = [p ) (q.r)]
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111) Explain distribution of terms.
AWM ISl AT FCA
1v)  Test validity by means of Venn diagram :

(oAMbeae AR (Fee] Kb F:

a)  This syllogism must be valid because it
has three terms, just as all valid syllogism
have.

G2 TR-Y& R334, Fe 97 foais o7
g, (@ F(E AT ({4 VI A |

b) He is not learned, for his lectures are
not intelligible and only the lectures
delivered by the learned are intelligible.
@1 e T, @ OiF gl @RI AR Al
G GG Al Jrews Igol @Rl AR |

v)  How many opposition of propositions are

there? Is subalternation and contrary a real
opposition? - explain.

W FeafEel sa geme s [efkel =g
fefdte Raifael & egeoies awew [eafie e
I AT

3. Answer any one question: 10x1=10
@~ @F6 ArHie Ted 7l 2

1)  Critically discuss Mill's method of agreement.

fSieTe owd) Aafen AfeR A @t
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Determine the validity of the following
argument / argument form by truth table
method :

o) ARAR AR Ie/Ifex PR @7 @l
EREREE

a) (GvH)olI
Iv(GH)
- (GvH)>(GH)

b) If terrorists' demands are met, then
lawlessness will be rewarded. If
terrorists' demands are not met, then the
innocent hostages will be murdered. So,
either lawlessness will be rewarded or

innocent hostages will be murdered.

I AFPRAWE Wk &= @eq W |
SRRl (& Tiot o1 | 3 STgvRieE wifd
G (193l =1 2 o[ wifie Bera =ibs
TRy Ifemm 2o T4 203 | ok =iz-
Wl @0l ST gl wifie Reta wits
ey afema goyl T4 2@ |

111)  Explain the criteria for appraising an analogical
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argument.

Tl e FeRIE Aareafer i S|
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